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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS ERE

07:40 333 160. 0 0.314 E(  FiHRe07:40 KREFEF (CGRAEREE)
08:25 333 160. 0 0.314 E|  FiHA@08:25 KENFEF (FRP{EREE
09:15 333 160.0 0.314 & FiHfe09:15 KEFIEF (KRFEERES)
10:05 333 160.0 0.314 5| FEAe10:05 KEFEFE CGRAMEEE)
10:50 333 160.0 0.314 5| FHEA@10:50 REFEF (RAEEES)
11:35 333 160.0 0.314 5| FHAe11:35 KENFEF CGRAMEEEE)
12:20 333 160.0 0.314 5| FHA@12:20 KENFEF (CGRA{ERNEE)
13:05 333 160.0 0.314 5| FEAe13:05 KEIEFE CGRAFESE)
13:45 333 160.0 0.314 5| FHA@13:45 KENFEF CGRAMEEEE)
14:25 333 160.0 0.314 5| TiHe14:25 REERF (REAERSE)
15:05 333 160.0 0.314 5| FEAe15:05 KEIEFE CGRAFEESE)
15:45 333 160.0 0.314 5| FHA@15:45 KENFEF CGRAEEEE)
24t 3996.0 (127%) 1920.0 3ZHKEC: 2080.0, PH: 5.5

FHERECE (2163.0 vs 4262.0) 35
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P6AE

BfiE) | GEBAK Y | ERE (EAR/H) | ERERE (B/R) | XS R

06:30 327 160.0 0.314 = {Ri%@06:30 B (RAEZSE)
07:15 327 160. 0 0.314 E| {Rige07:15 B3h (RE{ERSE)
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23t 4251.0 (13%) 2080.0 3ZHKEC: 2080.0, PH: 5.5

Wk FEERRmA (0.91) , FRE

MEREHER 2 STHAE RS (301.0 : 157.0), AIREKREERE
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FEREIPH (6.68) 5i&FEPH (5.5) REKK, FHRE
FHEKRECE (2140.0 vs 4285.0) 35

LRGEBIPH (6.5) 5i&EME (5.5 REKK, BRE.
LOREBIPH (6.5) S5#EEVEN (5.5) REKK, BWE.
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:55 327 160.0 0.314 B 1Ri%e06:55 B (KFAERER)
07:35 327 160.0 0.314 = {Ri%@07:35 B (RFAERSE)
08:35 327 160. 0 0.314 E  1BRi&%e08:35 Bai (RAERE)
09:20 327 160.0 0.314 F BRi%e09:20 BE1 (RAERE)
10:00 327 160.0 0.314 =l {Ri%@10:00 B3 (RAERSE)
10:40 327 160. 0 0.314 E BRi%e10:40 Bz CGRAERESE)
11:15 327 160. 0 0.314 =l Rige11:15 Bah (GRAEESE)
11:50 327 160.0 0.314 =l RRiB011:50 Bz (REAEEE)
12:25 327 160.0 0.314 E BRige12:25 Bz (GRAERESE)
13:05 327 160.0 0.314 5| {Ri%e13:05 B3 (RAERSE)
13:50 327 160.0 0.314 = RRiB013:50 B (RFAEESE)
14:25 327 160. 0 0.314 E BRige14:25 Bz CGRAERESE)
15:00 327 160.0 0.314 El BRi&e15:00 Bz CGRAERSE)
15:35 327 160.0 0.314 = RRiB@15:35 B (RFAEESE)
16:15 327 160.0 0.314 =l RRiBe16:15 Bz (REAKEE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

Wk FEERRmA (0.91) , FRE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASEBRGERE160. 0 ml.

FEREIPH (6.62) 5i&FEPH (5.5) REKK, AT
#HEKECE (2160.0 vs 4168.0) i d 5

LRGEBIPH (6.7) 5i&EME (5.5 RERKX, BRE.
LOREBIPH (6.7) S5#EEVEN (5.5) REKK, BWE.



FRV (ml plant-1)

P6AE_E1, Day=60 (2025-06—04)
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P6AE

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK R

07:05 327 160.0 0.314 = {RRiB007:05 Bz (RFAKEE)
07:45 327 160. 0 0.314 E BRi&e07:45 Bzl (GRAERE)
08:50 327 160.0 0.314 5| {Ri%@08:50 Bz (FFAAERSE)
09:35 327 160.0 0.314 = {RRiB009:35 B (RFAEEE)
10:15 327 160.0 0.314 =l RRiB010:15 Bzh (REAEEE)
10:55 327 160.0 0.314 5| {Ri%@10:55 B3 (RAERSE)
11:35 327 160.0 0.314 =l {Rige11:35 B3 (RAERSE)
12:15 327 160.0 0.314 =l RiBe12:15 Bz (GREAKEE)
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16:10 327 160.0 0.314 =l RRiB016:10 Bz (REAEEE)
H2it] 4578.0 (14)%) 2240.0 3EGHKEC: 2080.0, PH: 5.5

AREHTERRA (0.91) , BEE

MEREHERE STHAE RS (296.0 : 164.0), AIREKREERE
BRIASERRIERL164. 0 ml.

#[EKECE (2233.0 vs 4000.0) T3

LRGEBIPH (6.7) 5i&EE (5.5 REKKX, BT,
LERGERIPH (6.7) S5HRAVE (5.5) RERK, FRE.
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2800
2200 -
2100 -
2000 -

1900 ~

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AE_E1, Day=59 (2025-06-03)

150 11, V8¥RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 15500

609
50 -

67 Warning: lcol ['FVI',| "FVO'] missing

300 -

200 -

100 A

1.0

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

173

optEC0=2600. 0, setECB=2080.0

ECB*10%

ECC

6.5

6.0 -

R e et e e

5.0 -

optPHO=6.5, setPHB=5.5

PHB*10% [

PHC

300 4 Bylnit

ey -

0 1 2 3

4

D62 02:03: ET=1665 Fg=2080.0 Ro=505.0

5 6

8 9 10

11

4 3000

- 2000

- 1000

15

17

18

20

21

22

23
——1 3000

301 BB | B [B | B

[

BB | B

i

BB | B B

ES
5]

ES
5]

E3
B

E3
B

=
B

E3
B

E3
B

B

ByEt @D59 19:02: ET=1682 Fg=1920.0 Ro=nan

L

1

7

8 9 10

11

12

- 2000

- 1000

15

16

17

18

20

21

22

23
——1 3000

p——
-
0
5

i

[

BB | B

i

g | BB | BB

ES
5]

=
B

ES
5]

=
B

E3
B

E3
B

=
B

E3
B

E3
B

B

ByWoFv
200 A

100 -

—— ) -

@

D62 02:03: ET=1680 Fg=2240.0 Ro=571.0

—
14

01 11 2] 3

11

12

- 2000

- 1000

16

17

18

19

20

21

22

23

el BB | %%

ES
5]

=
B

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3

B

ES
5]

0.6

0.4+

0.2~

0.0

1500

1000

500 ~

|
| _obs

PPFD_obs

80 ~

60 :
— RH

404 © RH_obs

[ ) RHo_obs

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



660 860
m=610,n FV0=0

46

45

44 -

43

——

M_E

6i5 6é0
m=795,n FV0=0

45.5

45.0 -

44.5 -

44.0

43.5 -

43.0

42.5 -

860 865
m=975,n FV0=0

46.5

46.0

45.5 -

45.0 -

44.5 -

44.0 -

980 985

m=460, FV0=0

- ME
43
42
41
T T T
460 465 470
m=650,m FV0=0
46.51 o wE
46.0 -
45.5 -
45.0 -
44.5 -
44.0 -
T T T
650 655 660
m=840,m FV0=0
- ME
45 -
44
43 4
840 845 850

44,

44,

43.

43.

42.

42.

46.

45.

45.

44.

44,

43.

43.

m=505, FV0=0

46

45 -

44 -

43

——

M_E

505

5%0 5%5
m=710,m FV0=0

——

M_E

710

7%5 7&0
m=885,n FV0=0

——

M_E

885

890 895

44,

43.

43.

42.

42.

41.

46.

46.

45.

45.

m=560, FV0=0

46

45 ~

44 -

43 -

——

M_E

5é5 5;0
m=760,n FV0=0

7é5 7%0
m=920,n FV0=0

920

925 930




hour

100

80

- 60

- 40

§_

%

%

%
‘e

»
%

\ R
N N
S
Q\z\ %7\

25

N
%,
X
L e
N

4

2

%

&

£

%,
&

At ’@(26_.?
%

2



P6AE

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK SRR

07:00 327 160.0 0.314 = {RRiB007:00 B (RFAEEE)
07:45 327 160.0 0.314 = RRi1B007:45 Bz (RAEEE)
08:25 327 160.0 0.314 = {RRiB008:25 Bz (RFAEEE)
09:15 327 160.0 0.314 =l RRiB009:15 B (RFAKEE)
09:55 327 160.0 0.314 = {RRiB009:55 Bz (REAEEE)
10:35 327 160.0 0.314 = {BRi18@10:35 B (GREAERESE)
11:20 327 160.0 0.314 =l {Rige11:20 B3 (RAERSE)
12:15 327 160.0 0.314 =l RiBe12:15 Bz (GREAKEE)
12:55 327 160.0 0.314 = Rige12:55 Bz (REAEEE)
13:35 327 160.0 0.314 [Z=| 1Bige13:35 Bzh (REERESE)
14:10 327 160.0 0.314 |z =| 1Ri%e14:10 B3 CGREAZERE)
14:45 327 160. 0 0.314 |Z=| Bige14:45 Bz (GREAERESE)
15:20 327 160.0 0.314 |Z=| 1Ri&e15:20 Bzl (GRAEEE)
16:00 327 160.0 0.314 |z =| 1Ri%e16:00 Bz (REAZEBE)
H2it] 4578.0 (14)%) 2240.0 3EGHKEC: 2080.0, PH: 5.5

AREHTERRA (0.91) , BEE

MEREHER 2 STHAE AR (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

3 [ERECE (2240. 0 vs 3970.0) i3

ERGEERIPH (6.6) S5iRE(E (5.5) REKK, FHRE.
LRGERIPH (6.6) SHRAVEE (5.5) RERK, FRE.
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03 69 Warning: col ['FVI’, "FVO'] missing 67
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